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Large Deviations �� �� ��� � ���� � ���� ����� � ����� � ��� ! "# �$�

%&'( )

* �+�, �#  ���- .E X2
i = σ2 /

E Xi = µ /����0 ���� � � 1�$ # 1� {Xi} ��, � .* � + ��, ��$�, ��0��$  +2- # 1�  �$3
� �0�#, 34���,�  $�4�,

Sn =

n
∑

i=1

Xi , µn =
1

n
Sn .�5.5 �

�+ # �, * �����, * � 0��, � �! �2#
µn → µ w.p.1 as n → ∞�5.6 �

�+ # �, �2+ �, ��$�, �0�� �
1

σ
√

n
(Sn − nµ) → Z in distribution as n → ∞�5.7 �

8, 34���,� √
n �� ����  ��$ � ���� / � ��+ .�1 �-#� �� �0# 34���  � ��+ � �� �-�� �� �#� # 1� # �, Z  �#+

��,-�� �4�+ �#� - /���� .n �� ����  ��$ � ����+ � ���� ��# "� ����� � ����$ 8��- �-# /�#2 ���3� .1� ���� �-1
3 �#�, �� � � $��,,

{µn ≥ µ + a} = {Sn ≥ n(µ + a)}�5.9 �
!� --� �-0� ., ��  $�, $4� ,2�#$ : # �, ,�#�, .n → ∞  �#+ �0#� �0# �� �2 � � $��, �+  � $ .a > 0  �$3/*�� k �+� /�!# �4� .µ = 0 �+ � ���0 *�� !�-- ., 2 $4� �$�� ,�4�# �� -�# !�0- ,$, /� ����$ ,�#�, �#

P {µn ≥ a} = P {X1 + . . . + Xn ≥ na}�5.; �
≥ P

{

Xjk+1 + . . . + X(j+1)k ≥ ak for all j = 0, 1, . . . , (n/k) − 1
}�5.< �

= [P {X1 + . . . + Xk ≥ ak}]n/k�5.= �
* �3$� � * �� ���$ ���$, � �0�� ���� k  �$3 /* �����, * � 0��, � �!� *��# .# 1�, � �4 �$� �� � ���, �# ���$
# �, ,�� �, $4� :::,-��� .� � ���#� , �4$ �0#� ># ��, 8��!� *�! �$�- /,2+ k  �$3 /8+� .1 :� ��� 8��

.� �� �#�  � ��, �+�
$�!-� θ > 0  !$- .$� �$ ?4 8����� �# �# ��30- /�-� �4�

P {X1 + . . . + Xn ≥ na} = P

{

eθ(X1+...+Xn) ≥ eθna
}

�5.@ �
≤ e−θna

E

[

eθ(X1+...+Xn)
]

= e−θna
[

E eθX1

]n

=
[

e−θa
E eθX1

]n�5.A �
�$�- / �����  ��� * �� --�0��#, �-� �# �3+ !�0- *# .iid *, # 1�,� ���$

e−θa
E eθX1 ≈ (1 − θa)(1 + θ2σ2)�5.5B �

�$� -� θ = (a/σ2)  !$- a �� 8�� -, C 3,  �$3 �3+ .�0# ��!�� � � * �-����� ���$
e−θa

E eθX1 ≈ 1 − (a/σ)4 < 1.�5.55 �
.��# �4--�0��# � �!0� # �, ,�� �, $4�� �$�-� ( 1.9)::( 1.8) :$ �#2 $�4-
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����
( 1.9)��( 1.8)

� ����	
 ��
 �� ���	 � ��� �
 �� ��
θ

� ����� ���� 	��
�

1.1 ����

P {X1 + . . . + Xn ≥ na} ≤
[

inf
θ>0

e−θa
E eθX1

]n

�5.56�

���
	� 	���� ��� � ����	 	����	 ��� ����� �	�� ��
�


% �(� �&� & ! �&"#$ %

/ε > 0 :� a > 0 �+  �$3 �* �����, *�-�� ��$ � �+ � �# ,� �-� �� ,2 � 0$

lim
n→∞

1

n
log P {a − ε < µn < a + ε} ≈ −`(a)�6.5 �

$ � � # �, ,2+ ��� �$ �+ $� * �� - .`  �$3  �0#, �++ � �0� ��� �$ �$�� ,4 - 8+ � /` #�,��+ ,�4� -�0  �$3
, �4$ $ ��+� *� 8� �-  �# /���� ���:�� ��0���#

P {a − ε < µn < a + ε} = e−n`(a)+o(n)�6.6 �

M(θ)
*�� -� �� � 4�� ,�4� -�0, �#  ���- .����0 ���� � � 1�$ # 1� {Xi} ��, � . o(n)

n → 0
*����, ��� �$ # �, o(n)  �#+

�Comulant generating function # �- log M(θ)
*�� ���, � `(a) ,�� *�� ���, ��  �- ?�� � �4� �0� - � �# �

M(θ)
.
= E eθX1�6.7 �

`(a)
.
= − log

{

inf
θ

e−θaM(θ)

}

= sup
θ

{θa − log M(θ)} .�6.9 �

n
��� ���

a > E X1
�� ���� &'(

2.1 )*+,
P {µn ≥ a} ≤ e−n`(a) .�6.; �

n ≥ n0

���� ��
n0

����
ε
��� ���

0
�� 	� ����

θ
����

M(θ) < ∞ ��

P {µn ≥ a} ≥ e−n(`(a)+ε)�6.< �

*�!, �# .0 # �, X1 �� 34���,  �#+ �0��, �# !�+ �,� � �0�� /* �-���, �� 34���, �22, ��� �3 "�-./�
���� - * ������ θ

*� ���+�  � ��� � �# ,� ��+ .*���, � 0$ �-��3� �0+ /$� �$ ?4 8����� �# � 23$ *�!�+ �� 8���3,
.* ������ * �+ 3$ �� �� #� * ������,� ��# ,� ��+ 8� -� 8����� �#$

�+ $� * �� - .,!+ �,, �3 , 4�$  �$3- ,� �-+�, � �$��! ���$� : ,��� ��-�� � 23$ * �!�+ �� 8��!�, *�!, �#*����� *#
`(a) = sup

θ
{θa − log M(θ)} = θ∗a − log M(θ∗)�6.= �

* �� �  �0# �2#
`(a) = − log E eθ∗(X1−a)�6.@ �

��! ����0  ���-� X1 �� ����0, �# F :$ 8��-

G(x)
.
=

1

M(θ∗)

∫ x

−∞
eθ∗y dF (y) .�6.A �
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:-�0�# 1� �0�04 1 � �4� -�0 *3 ,�3- ��!, ����0� � ���, ����0,�  $3�, � .M(θ) �� , ��,, ���$ ����0 8+# �,2
# 1�, �� � ���, �# � G(x) �� , ��,, ��$ α �+� �3+ .�exponential twisting # �- 8+�� : � ��# �4-

P {X1 ≥ α} =

∫ ∞

−∞
1{y≥α}dF (y)�6.5B �

=

∫ ∞

−∞
1{y≥α}e

−θ∗yeθ∗ydF (y)�6.55 �

= M(θ∗)

∫ ∞

−∞
1{y≥α}e

−θ∗ydG(y) .�6.56�

"� � $��,, $�� �!� �2 ,!� �-$ ���� -
P {µn ≥ a} = P {X1 + . . . + Xn ≥ na}�6.57 �

=

∫ ∞

−∞
. . .

∫ ∞

−∞
1{y1+...+yn≥na}dF (y1) . . . dF (yn)�6.59 �

= [M(θ∗)]n
∫ ∞

−∞
. . .

∫ ∞

−∞
1{y1+...+yn≥na}e

−θ∗y1 · · · e−θ∗yndG(y1) . . . dG(yn) .�6.5; �
/ε′ > 0 �+� �3+

P {µn ≥ a} ≥ [M(θ∗)]n
∫ ∞

−∞
. . .

∫ ∞

−∞
1{n(a+ε′)≥y1+...+yn≥na}e

−θ∗y1 · · · e−θ∗yndG(y1) . . . dG(yn)�6.5< �

≥ [M(θ∗)]ne−nθ∗(a+ε′)

∫ ∞

−∞
. . .

∫ ∞

−∞
1{n(a+ε′)≥y1+...+yn≥na}dG(y1) . . . dG(yn)�6.5= �

= [M(θ∗)]ne−nθ∗(a+ε′)
PG{n(a + ε′) ≥ X1 + . . . + Xn ≥ na} .�6.5@ �

/ �� �+� *�� -� �� � � G ����0 *3 *�-���� 8+�� / �� �+$  �2� # �, �+ 3$�- θ∗ $�$�  ���� M(θ) :� �-!-,� 8���+
��0#�� ,2 ��� �$ �� � 2�-,� 3$�- E eθ(X1−a) �� * �� ���# ���� - # �, θ∗ :� 8���+ />� �-$ .�-� � -� �� � 0$�8+� .θ∗ :$

E(X1 − a)eθ∗(X1−a) = 0�6.5A �
E X1e

θ∗X1 = a E eθ∗X1 = aM(θ∗)�6.6B �
EG X1 = a .�6.65 �

�!�� 8���+ .34 ���, :  � ��$ ��04, 3 �#��  ��-, 3 �#�, �# C0�,� ,2+ # �, exponential twisting :,  � ��+
 �$3 /� 0$ .1/2 :� �0# �� ( 2.18) :$ G �0� � � $��,,� �2+ �, ��$�, �0��� �$�- a #�, 34���, G ����0,

,2+ n  �$3 .1/4 ��!0� ,�,� #�, � �0�� ���� n

P {µn ≥ a} ≥ 1

4
[M(θ∗)]ne−nθ∗(a+ε′)�6.66�

=
1

4
e−n`(a)e−nθ∗ε′

.�6.67 �
.( 2.6)

*�!, �# �-�$�� θ∗ > 0 :� �� � � � # �, ε′ :� 8���+
.8�,�+ #�, � ����� � ���� ��0�� �� ��$ ���, , �4,

��� �	���� 	���� C �� 	��
� 	���� O
��	� �� ���� ���� � ��
� ��
 {Xi}

��	�
2.2 )*+,

limn→∞
1

n
log P {µn ∈ C} ≤ − inf

a∈C
`(a)�6.69 �

limn→∞
1

n
log P {µn ∈ O} ≥ − inf

a∈O
`(a) .�6.6; �
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 �$3 .* �� ��� #1�  �$3  � ��+ /�!# ����$ � � C# ����� �2 ,#4�� "# 1�, �3 � �!-, * �� 8�# �+ $� �� ��
 �$3 �0 �� �-�# M(θ)

*# � � �, >� �- �-+� �#-� � 0 �� ,$�$�$ M(θ) �� * ��� *,� *�#-�$ C �4 � � *� ��� �
.θ �+

�3 #�, 8��!�, *�!� 3��,� C �,� 8���+ /� ��# .�-�� � �3$ �-, � �#4�� ,�+ � , /�0��, �!+ �,$ 8��-� �-0�
��� �3 , �� ,2+ , ��$  ��- 3 �#� �+ ,-���� * �3��� �-# /* �-���,� �!# �+  �$3 ����0, �� ,,2 ��-�� ���

.*� ��,-�, �# *�-��� *��+ ::: * �-���, �+ �� ,��30 >�� ��
�3$�- 3 �#�, �� ���� ��0���# :����� ���, � � � $��,, �+  � $ /* ���0-�#, ��� �3 3$�- *�!, �+ ,�$ �3,�
,�� �, $4� �# 8� �- �0��,� � #� / � ��+ .,4�$�, C��� ` �� * ���-��, ���� - $�$� � ��,� � � $��,, ��� �3

.,+ ��-, � � $��,, �3$ 3 �#�, , � �µn �� C 3 ,2�# $�$�  ���+ � �4�+  �,$� *� # �, /� � $��,, ��*-�#� �#��� *��0 �� 8�# * ���� � -�#� $�! ,� �+ �- *���, �0��, �# �+ ,��!� $� *�� - �0��, �# !�+ �,� ��+
,$�$� �� �2# a ∈ O

*# "�-��3� �2� ,,2 8��!�, *�!, �!+ �, 8#+� .,,2 ,!+ �, *3X1 �� 34���, �# *����+
� ��$�- 8���3, *�!, �$�� .,2+ a �+� *�! # �, `(a) :� ,# � �-��3� �0+ $�� �! ��30, � /O :$ ���+� ��� � -�#
.�2 ,��� -$ ��!��, �0�� 8�#, 3��, � � $��, ��� �3 � � $��, �# * ��!-� 34 ����  � ��$ ,$� �, ,���-, �#

�� θ
��� �� ��

M(θ)
� �������� � ��� ��� ��
 ����

2.3 �,�/�
M(θ) = eθ2/2 `(a) =

1

2
a2 .�6.6< �

a ≥ 0
���� ����

`(a) λ
��
�� �� ��������� ���
�
�

M(θ) = eλ(eθ−1) `(a) = a
(

log
a

λ
− 1
)

+ λ .�6.6= �
1/2 < a < 1

���� ����
` �� ���� 1/2


 ���
�	� {0, 1} ����� �� � ��� ���� ���
�
�

M(θ) =
1

2

(

eθ + 1
)

`(a) = a log a + (1 − a) log(1 − a) + log 2�6.6@ �

��� 8�� θ
*# � �0�� M(θ) /���� /��# �4--�0��# ,-���� *��# "θ �+� �0 �� M(θ) ,����$ *�-���,  �$3

:θ 6= 0
*��� �0 �� �-�# � ��+ * ��� �-�# M(θ)

* �$3 * �-��� 8$��+ � � .��# �4--�0��#, ,-���, ��  �� 0,�
� ��, -�,,:::� �0��� 8-�# � �!+ �,,� � #� ,2 , ��$� � ���,� $��! .�$+ $-2 ��3$ *�# �- *�-��� ��#+ �::
#�� : �!# ,-��� �� �� ! C 3 ��� �3 �� �� ,���� ,��� /��#+ * �-��� �$�� .� ��� ,-�� � ����� � ���� 8$��$

.*���, , ��$ �-�# � �0+ 1,��30 >�� �� 1 ��� �3
.# 1�  �$3 $4�, ���4� -�0 �� � �-�+�

��� �( 2.4)
�� � �� ���	 
������ 
� �����

2.4 )*+,

a = µ = E X1

�� ��� ��
`(a) = 0 � '

`′(µ) = 0, `′′(µ) = 1/σ2
��� �σ2 = VarX1

�
�� ��
��� �D` = {a : `(a) < ∞} �
�� �|a| → ∞ ����

`(a)/|a| → ∞ �� ��� ��	 µ �� � �
 ���
 	� �� ��������
` ��

�b ��� 	
 ���� 	���� ��	 {a : `(a) ≤ b} ∩ D̄`

�+� M(θ) < ∞ *# �2# .b > 0  �#+ an
.
= µ + bσ/

√
n

8�� - .,#$, ,+ 3,, �# �$�- *�-� !#, *��0��, �-��
0 $�$� θ

P

{

Sn − µn

σ
√

n
≈ b

}

≈ e−n`(µ+bσ/
√

n) ≈ e−b2/2�6.6A �
��2+ �, ��$�, �0�� �# �-�$��  � ��+

.* ����� # 1�� ���!�� # �, #$, �0��, *��# .* ����� *-�#� *�-���� ,��+,� � �-� �- � �-�+�, $� 
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���
0
����

θ
���

M(θ) < ∞ ��
[Bahadur-Rao] 2.5 )*+,

P {Sn ≥ na} =
1

√

2πn[`′(a)]2/`′′(a)
e−n`(a)[1 + o(1)] .�6.7B �

.� --�0��#, �� *���, �#  � �� �� ����� , �4$ 8� �- , 2 �0��
�+ #�, � � $��, *�$�!� , �$3 ,4�$�, �3 ` �� * ���0-�#, 8�� � �4$ 3�0 �� * ���!, �-�$ �+ ,�$�3, � �3���

P {event} = P {subset of the event contaning the minimizing point}�6.7 5 �
"�� �-��� C0,� ����� !�� �- � �����, � ����, � ��� 8�- S.R.S. Varadhan

8� � .� . .�

lower semi
��	 �� ��� 
������ 
���� ∞ 
�
�	� 	���� ����
 ���
 ��

I

����� �� 
��

 	������

2.6 �����
y
��� �
 ��� �

continuous

lim inf
x→y

I(x) ≥ I(y) .�6.7 6�
	����	 ��

good rate function
	� �� ��� 
������ 
���� ��	

{x : I(x) ≤ α}�6.77 �

 ����	 
 ���� 
� � ���


Pn


���
�	 
 ���
 ����� �
�� ��compact level sets
��

I �� �	���� �� �
α
��� 
����
 �� ��	

O
	��
� 	���� ����

C
	���� 	���� ��� ��

I
��� 
������ ��

Large Deviations Principle—LDP

 �����	

limn→∞
1

n
log Pn {C} ≤ − inf{I(x) : x ∈ C}�6.79 �

limn→∞
1

n
log Pn {O} ≥ − inf{I(x) : x ∈ O}�6.7; �


������ ��� 
������� ������ �� � ���� 
������ 	� �� ��� 
������� ������	 �� �������� ���� ���� ����
 	
2.7 ����
�	��� ���

, �4$ � ���$�, �# !�-�� Xn # 1� �� ����0, �3+ Pn �3 $ ��!�  �0# ,���� , �4$
limn→∞

1

n
log P {Xn ∈ C} ≤ − inf{I(x) : x ∈ C}�6.7< �

limn→∞
1

n
log P {Xn ∈ O} ≥ − inf{I(x) : x ∈ C}�6.7= �

*#� /, ��� ,4�$� #�, ����$ ,���- � 0$ 8+� /� � ��� � �4 �$�� >�� � ��,� ��+ � #� 8��!�, *�!,� $� * �� -
� �4 �$�  �$3 *� * �$ * � ��$ >�� 8���3, *�!, /�-� �4� .0 #�, ����$ ,���- �� � � $��,, �2# � �0�04 � �

.� �! ��0
,���� .` #�, $4�, ��4�-�0  �#+ iid # 1� �� � �0�#, 34���,  �$3:::>�� LDP :, 8� �3 ,$ �!# ,���� �-�# 

�� �0�#, ,���, ::: �� �# �# � ,���  ���-� ��3� ��+ # 1� {Xi} ��, � .� �0�#, ����0, #�, �0� �-

Ln
.
=

1

n

n
∑

i=1

δXi
.�6.7 @ �

* ��30,  0�� �# *� #�� ��$�+  �# / ��� ��+ Ln �3 $ ��!�  �0# �2# /* ����$ * �+ 3 *��$�� Xn
*#

$! � �3 �C��,�, �� ,�42��# $ ,����, � ��# �# ,��� �, �2 ���+, , ��$ .� �0# C 3 �+ �$��� ��� �-�, �
�3 $ ��!- .A ,4�$�$ ,�, C��,�,� ��� �-�, � * ��30,  0�� # �, Ln(A) ����, A ,4�$� �+�  �#+ $4�,
 ���+ L1 �� �-$ �! �, � ��,� � ���� ��� 8�$ $! �  ���-� X1 �� ����0, ��4�-�0 �# ρ :$ 8��- /���$, , ��,

 ���+ /a � ��� $ ν $�$� !��0,  ��+, �# Ba(ν) :$ 8��- ν ,���  �$3 .d(µ, ν) =
∑

i |µi − νi|
.Ba(ν) �� *����, �# Bc

a(ν) :$ 8��-� Ba(ν) = {µ : d(µ, ν) < a}

;



	� �� ��� 
������ ��
LDP �	 ����� 
� � �
 ���
 {Ln} 2.8 )*+,

Iρ(ν)
.
=
∑

i

νi log
νi

ρi
.�6.7A �

�����

lim
n→∞

1

n
log P {Ln ∈ Bc

a(ρ)} = − inf{Iρ(ν) : ν ∈ Bc
a(ρ)} .�6.9B �

�-� �3 80 �#$ C# .* ����� *� ��� ��  �$3 8� �3, �� �� 0 , �� �,2 * ����$ * �-���, �$ , ��,  �$3� 8$ ��+
�� � #-�� � , �4� -�0 # �, � �0�#, 34���, �+ /� �0�#, 34���$ ��0��, 1�3� ,� $1 # �, � �� �0�# � ����$ ��0��,
, ��,  �$3 8� �3, C��� , �� �� ,�4� -�0  �$3 LDP

8� �3 �$�� C � � � /���� ,# -� �0+ .� �0�#, ����0, ��
.,�43

	������
f
�	
 � �� ���� �� �����
 � � �������� � �
�� �����
 � ����


Y �� X
��	�

[Contraction Principle] 2.9 )*+,�� �{f(Xn)} �� �Y �� � � �� ����	 {Qn}
��	�� {Xn}

� �
 �� �
�� �
X
�� � �� ���� 
��� {Pn}

�	
 �Y �� X �
 	����	� �� ��� 
������ ��
LDP �	 
� ����
 {Qn}

���
I
	� �� ��� 
������ ��

LDP �	 
� ����
 {Pn}
J(y)

.
= inf{I(x) : f(x) = y} .�6.9 5 �

� ""'&��( � "�&�# ��"�� "� "��� �

���# *����� 8$ ��$ .�$�$ � �4�0�$ ,-��� *+ 3  �# *��$ �� � *�+��,� *, pure jump Markov processes
.* � ���� *, �4�+ ,# - ,2 � 0$� /8��# �0 �+ ��,�

�� ��� �� ��	
	 ���� �������	 � ����	 
� S �� �
�� �	��	 	���� � �� ��� �
�� �� ���
 ��	� 	���� ���	

3.1 ���������� ��
� ������������� ��
 ��� �� ��� �
 	 �
 � ��
� 	� ��
� ���� ���	
	 ���

x ∈ S
��
� ��
� ���	
	

t
�
 ��

�p(y|x)
���
 
 ���
�	 ��� �� ���� ��	 ��
	 � ���� �λ(x)

��
�� ��

3 �#� 8�$ 8�2, C�� �+ 8+ *# #�, � �� ��$, ,!-,, .* �-�� * ����� � ��� �� ����+ �- �$3 ��� � ,2+ C��,�
� ��3- / ?�+ � � �3�,  0�� /*� �� �+ �#  #��, C��,�$ ��+ C �$ � ��3-� 8���+ .��# �4--�0��# # �, 3 �#��
.,#$, , �4$ ����, �# ��3 ��$�- /� ����+ � �#4�� ��4� �+ �-� ��+ .* ���� *�$�+ *3 * � ��� � *,� *�+��,�$

�� ���	 �����	 ��� �� ���

 �� ���
	 	����	 ���	

3.2 �����

��������� ����� �����
 ��� ��� ���
xt

�� ���� ���	
 •
{ej}

���	
	 �� 
������ 
 ����� �� ���� ���� •
��
� 
��
� �
����� 	���� ��� ���

	 �
 �	 
� ����

	

λj(x)
����
�� •

�λj(x)
��
�� �� ������������ � �


j
�� ���� ��� �
 ���

x
��
� ��
� ���	
	

t
�
 �� �� ���	�� ��	 ���	
	 
��	�
	

�x + ej
	�	� ���	 ��
	� �� ��
 ��� ���	 ��	 ��� �	� �
 �	 	���� 
�� ��	 ���

� 	����	

"* �#$, *� �#�, �-�� �!# �+� ��� � $��, ,-�!$� ���� ,2  �#�
�!# �� ,-��# , ,4�0�, .� 1�$ *�+��,�,  �#+ /j �+  �$3 λj(x)  �� 0 *3 8��# �0 C��,� �30�� x $4�$

.,���!  2�! � /x + ej ��!, $4��  �$3� *�+��,�,�
,4�0�, 8���+ � ��� 8��# �0, C��,� �� ,4�0�, *3 .λ(x) =

∑

j λj(x)  �� 0 *3 8��# �0 C��,� �30�� x $4�$
.λj(x)/λ(x) #�, ,�� j :, �4, � � $��,  �# ,���� ���$ ,�$�� ��� �3 �$ �� �, C��,�, ��

<



��1 �� ��� 	��
� ��	 	���� �� �
 ��� �	��
 ���	
 	��
� ��	 � �� ���
 ��	� 	���� ���	
 ��	 ���� �� ���	

3.3 �,�/�

�λ1 = λ � � e1 = 1
���

 �� ��	 ���	
	 ���� �����
�


 ����� �� ��

 �� ���	
 ��	 ���� �����
� ������������� 
 ���� � ������ 
 ���	 �� ��
 ��	 M/M/1
��


3.4 �,�/�
�λ2(x) = µ1{x 6=0}

����
e2 = −1 �
 �� ��� � 
 ���� ���� � 	�
� 
 ����� � �

λ1 = λ
����

e1 = 1 �
 ���	 � 	��
�

34���, �� , ��!� ����-$ .� �� ��0���#, � ��, -�,, �#  ��!� ��+ / �� 0$ ,����, *�+��,� � ��  ���-
��-��, .,��� ���-�� � $3  �# *�+��,�$ � ��3- 8#+ /iid *�-��� �� �� �-� � ��� * �+�$ �-��3 *� /� �0�#,

.* ��2�- �$ � �$ 3�0 �,� ,2� ,,2
����

x(t)
���	
	 
� ����

	 ����� �
�� 
���� 
�
 ���
�	 	����
 ��� �


xn(t)
�
���
	 ���	
	

3.5 �����

xn(0)
��	 	��
		 ���
 •

{ej/n} �	 
 �����	 •

nλj(x)
�	 
 �����	 ���� •

.� ���, C��,�� �!�$ n �0 *�-�� ��, ,4�0� ����� n �0 * �4# ��, * �$4� ��� �3  ���� ��!, C��,�,  � ��+
�
x(nt)/n C��,�, �� ����0,� ,-�� xn(t) C��,�, �� ����0, ���+ 80�#$ ", ,2#

���	�
1/n

����� �	 
 �����	
xn

������ ���	
� ��� 	���� �
 � ����	
	 
���� �
3.4��3.3 
��
 � ��� ��
	�

3.6 �,�/������	
 ���� �λ2(x) = nµ1{x 6=0}
�
λ1 = nλ

�	 �����	�
1/n

��	 �� 
 �����	 ���� ��
���
	
M/M/1

���	
� �nλ
��	

�� ����	 �
 �� � ����	 ����� �� �
� ��	 ������	 ���� xn(t) = x(nt)/n
����

 ��� ���

� "� &�$(� �&� & ! �&"#$ �

34$- /�$ � ��3� ,��� $! � �,2� 8���+ .D $! �$ *�+ 3 * ��$�� *������,� � , /,4�0� �+��,�$  $���� 8���+
��� �+ 8�$ * �+ 3, �� �� #-�� ,�4��0 � -�# ��� �3 xn :� �$���� C��,�, �# x̃n :$ 8��- .#$, $� ��, �#
:� {yn} *�+��,� � �4�$� ���� # �- .C $! �$ 8, *���, � ��4� -�0 8+�� />�4 C��,� 8$��+ �,2 .,4�0� � ���� -
 �$3 8� �3 �� �# * ���   �� I $4� ��4� -�0 *3 {yn}  �$3 LDP

8� �3 * ��� *3 exponentially equivalent {zn}
. ��-�+ 4� ,��0�� #�, C# exponentially equivalent �� ������, , ��,, #� �#2 � $4� ��4�-�0 ,� �# *3 {zn}

�exponentially equivalent
�	

x̃n �� {xn} ��� j
��� � ���

λj(x)
��

4.1 )*+,

.> �4 # �,� /,�4��0 � -�#, C��,�$ � ��3- � ��! �- ��!� � /* �+��,�, �-� 8�$ ,-!$, ,�3- #� ,2 3� � /C+� 8���+
.� �-+� ,#4��� ���2- {xn} *�+��,�, � ��  �$3 LDP

8� �3 �$�� �# �� -�# 80 �#$ !�0-� �-0�

 �
 ���
 {an}, {bn}

���� ���	 � ����
	 
 ����� ����
4.2 ���)

lim
n→∞

1

n
log an = a lim

n→∞
1

n
log bn = b.�9 .5 �

���
a > b

��

lim
n→∞

1

n
log(an + bn) = a.�9 .6 �

=



8+� .bn/an → 0 �+ 8+ � an ≥ bn
/� ��� n  �$3 �+ !��$� �#-�, /,��3 ��-�� �-�� ,�4� -�0 # �, ���,� 8���+ "�-./�

1

n
log an ≤ 1

n
log(an + bn) =

1

n
log an(1 + bn/an) ≤ 1

n
log an +

1

n

bn

an
→ 1

n
log an.�9 .7 �

.#$,  ��,$ � ���� �#4�� �2 , -3�

�� �� KM


����
 �� 	���� 

 ��
M

��� ��
exponentially tight


���� {zn} 	��� 4.3 �����
limn→∞

1

n
log P {zn 6∈ KM} ≤ −M .�9 .9 �

"C+ �� �# * ��!� �+ �- �2# . 1n log P {xn ∈ S} �� ��$�, �# $�!� * �4� �-#� !�-- .#$, #�, �2 , ��, �� � ���,
1

n
log P {xn ∈ S ∩ KM} ≤ 1

n
log P {xn ∈ S} =

1

n
log P {{xn ∈ S ∩ KM} ∪ {xn ∈ S ∩ Kc

M}}�9 .; �

≤ 1

n
log (P {xn ∈ S ∩ KM} + P {xn ∈ Kc

M})�9 .< �
/,!�-2 ,-� !#, � � $��,, �����, ,-3�, � �+2$ �2# exponentially tight # �, � LDP :, �# *���� {xn} *#

.� ���0� �� :, 0 #�, ���#+ ,4�$� �+� �!���,�  �0# �
.��!# � �0�4 *��� � ��3$� � �� ��! � ��4� -�0, *# � � *# ����0��� , 0 #�, C :$ ,4�$��  +2-

�exponentially tight
��	 {xn} ��� � �
 ��� ���� λj(x)

��
4.4 )*+,

*�����, *� 0��, � �! �� ,� �  #�- /* ��$ �� � ,4�0� �+��,�� LDP �0�� �!+�,� ,� ��, �# �� � -� �-0�* �$4�,� 8���+ .λj(x) $4�$ ej
8���+� 3- # �, �2# x $4�$ C��,�, *# /34��� 80�#$� $� *�� - .��#+ *�+��,��

3�-� # �, "34 ���, �����, �3  $��  �0# 8+�� x :� $! �-� ��$� � �$ � �4�0� ,-��,� ���� n  �$3 /* �0�4 *,
#�,� /34���, 8���+�

∑

j

λj(x)ej�9 .= �

8�� -� /� ��# �4- 0�� ,# ����  ���- .34 ���, C��,�� ��-+�� *�+��,�, � ��� 83�� Kurtz � �� �0�� /8+# �
"x∞ :$ ,�� 8� �0, �#

dx∞(t)

dt
=
∑

j

λj(x
∞(t))ej , x∞(0) = lim

n
xn(0).�9 .@ �

.��!� 8� �0 ���� �� �2 ,# ����� �2# ���0�� 8$ ��$ * �0�4 *, *�$4�, *#
��� ��� �x∞(0)

� ���� ���


xn(0)

�
��
		 ��
	� ���� �� ����� �� �
� ������ �	 � ����	� ���� [Kurtz] 4.5 )*+,
�� �� C2


�� ��� 	�������
C1

�� ��� � ��� � ��� ����
T

P

{

sup
0≤t≤T

|xn(t) − x∞(t)| ≥ ε | |xn(0) = x∞(0)

}

≤ C1e
−nC2(ε)�9 .A �

lim
ε↓0

C2(ε)

ε2
∈ (0,∞) lim

ε↑∞

C2(ε)

ε
= ∞�9 .5B �

@



�-0 �3 �� ��# �4- 0��, ,#����, �� 8� �0, � ��� �-�� ��, C��,�,� � �! �� �-�, C��,�,� ��+ ��,  � ��+
.� ��# �4--�0��# � � �,�$ �0#� ># �� �0�� ��� � -�#

 �$3 * ���$ *� ��+  �$3 !�+ �,� � �0�� 8��!�, *�!, �# /� ��# .8�,�+ #�, LDP :, 8� �3 �!+ �,$ 8��3 ,
�# !�+ �,� � �0�� exponentially tightness ���$ /� ��# .C+ 83� - /8���3, *�!,  �$3 .� ���+ ,!��0 ,4�$�
��� �+ �� #4�-� /* �! ��0 * � ��+ ��� �3 ,� �# ,�+- /� ���0��� K :� 8���+ .K ����0��� ,4�$� �+  �$3 *�!,

.4.2 ,-3� � �+2$ �$��� ,#4��,� /� 0-$  ��+ �+  �$3 *�!, �# !�+ �- .�0 ��
/>� �-$ .ε :� 8�� * �� 0��, �� �- 8$ ��$ r :� *�! �� *������, �+ >� �# #�, Bε(r)  ��+ C $! �$ �+  +2-* �+��,�, �# *� .x0 :$ ,� �# 8��-:::,3�$� *,�� ,�!�,, ���� -  �# *������, �� ,4�$�, ��� �!���- �-#8�� -  ��+$ ,,� � C��,�,� !��$�, 3 �#�, �,� :::�#�- /� ���$�, $ �� �! C �4� .,���- ,� �#$ ��!�- * ��� �-�,
� ��� �,�, � �!-,, ��� �# �3+ !�-- �,2  ��+$ # �, 8+# *# C��,�, ,# - �4�+ � /[0, T ] !�-- /8�2, ��� � -�# C �#�

"$ �� �!, C �4�
:� 0 :� �! , ,���� *�� ��! /,�3��� *�� ��! λj(x)

*�$4�,
.x �� � �0�4 � ��4� -�0 *, *�$4�,

"* �#-� �-� *���� ���3 /8�� -,  ��+$  #� � C��,�,� ��+ �+ $� *�� -� /* � 4� *�3��� 8�2, ��� � -�# �# ��!-
� �3��� /,0�4 ,�4� -�0 8$ ��+ r :� 8���+ .3�� �� �#$ r �� 3�0��� $� � 3�0�� �3  ���� 3�� �+$� /x0 :$ ��!�,�
�8���+ �+� � � �4�0�,  0��  ���+ .* �3�$� $� �$ *, *�$4�, [t, t + ∆] !�-- /� �0��  4� 8�2 3��$� #�,  $�,*�-��� n∆ �� * �+�+ �4���  �0# ,2+ ,-���� 8���+ .n∆λj :$ 8��-� 13�$� 1 $4� *3 /�-��# �0 # 1� # �,
/ 1
n

∑n∆
i=1 yi , �4,� * �+� $� �$ # �, ,2+  4� 3�� �+$ C��,�, �� �-� �-#,� � , /λj $4� *3 *��-��# �0

C+ *# .r′ · ∆ $� ��$ ,��� # �,� r �� �-� �-�#� $ � � ,2 * �+� *# ���$� �-��3 �

P {xn ∈ Bε(r)} ≈ P

{

1

n

n∆
∑

i=1

yk
i ≈ r′∆, all k

}

≈ P

{

∆
1

n∆

n∆
∑

i=1

yk
i ≈ r′∆, all k

}

�9 .55 �

*, �*�-�� * �:k  �$3 � * �� �+�, C+ *# *��# .λj(r(k∆))
*� �� 0 *3 *��-��# �0 *,� iid

*�-��� *, yk
i  �#+

�-�$�� �� 1�$

P {xn ∈ Bε(r)} ≈
∏

k

P

{

1

n∆

n∆
∑

i=1

yk
i ≈ r′

}

�9 .56�
8+�

1

n
log P {xn ∈ Bε(r)} ≈

T/∆
∑

k=1

∆
1

∆

1

n
log P

{

1

n∆

n∆
∑

i=1

yk
i ≈ r′

}

�9 .57 �

 �#+ � λj(r(t))
*�$4� *3 *��-��# �0 * �-���  �$3 ��# 1�� � � + ��, $4�, ��4� -�0 �# `(r(t), r′(t)) $ �3+ 8��-8���+, � ����, �# /C 3, �# �-$� �! ,$ a ,��� -, # �, r′(t)  � ��+ � r′(t) ,��� -$ $4�, ��4� -�0 �# *�$�!� �-#

∆ → 0 + 1!# � n∆ → ∞ ,��!�  �#+ 8+ *# �$�- .�# 1�,  �$3 ,����, ,���, ��

1

n
log P {xn ∈ Bε(r)} ≈

T/∆
∑

k=1

−∆`(r(k∆), r′(k∆)) → −
∫ T

0

`(r(t), r′(t)) dt
.
= −I(r)�9 .59 �

8�# �* �#������, �!��� � *� ��, $� $ � "� �0- 3� # #�, � � �� �# � � �� �$� �-� /� ����� � ���� * �!�$ ", 3,
.,-�� ,#4�� 8� � � ���$�,  �� ��-�� � �� �,� #�# /� ��-+� � �$��� � #� "� ���$�,  �� �# >��!,� � � �0#

�� �
�� ����� �����

 ����� � ����� ������ �	��
�
 � �
 ��� �����	� ���� �� ���
 	���� ���	
 ����
4.6 )*+,������������ 	�
�
� ����
 ��� �� ����

ej
�������� �� � ���
 ���

	 ����� ������ �� ���	 
������ 
�

`(x, ·)	� �� ��� 
������ ��
LDP �	 ����� 
� ����
 xn

	����	 ����	
 ���� ��� �λj(x)
��
�� ��

I(r)
.
=

{

∫ T

0 `(r(t), r′(t)) dt r absolutely continuous

∞ otherwise.
�9 .5; �

A



.� �� ���, $4�, ��4� -�0 �# �- ` :� $4�, ��4-�0 �# �- I /* �+ ��,� ��  ��,$
*�$�!� , �$3 ,4�$�$ *�� ����, �� 8, � * �+��,�, �� 8, /���!�,, $4�, �# *�#�0�� �-#  ��#+ ", 3,
,-�# 3�$� ,�!�, �#-� *3 ,4�$�, ��� $� *�� .C �� �2, ,4�$�, ��� �!�$ *, *��� ��, �+ � /� � $��,�� #-�� $! �

���,� #�, � � $��, �� ,+�3�, $4� $�� �! � �3$
min{I(r) : r ∈ S}�9 .5< �

* ���-�� �#�4� �� ,��3$, "� �� -�# #�, I /,4�0� C��,�  �$3 .�-� �# � -��-3�, *������, �4�$� #�, S  �#+*���3� � �+ *# /,� �����$ � �$ � �!- ��#+ � ��3$ "Variational problem ,�4#� �� � ��3$ �# �- � �� -�# ��
.� �� ��-# , �4$ * �� �0� � �-� �0 # �4��  �0# � � ��-

	�
�
� ���	 
������ 
� ����
	 �� 
���		 
� � ���
 ������ ���	
� �� ���� �
3.4��3.3 
 ��
 � ��� ��
	�

4.7 �,�/�	���� ��� �� ��� ���� λ2(x) �� �����
 �
 ���		 
� � ���
 ����
M/M/1

��
 
�� 

 ��� � 2.27 �� ��� ������ �������

�	� ���� 	� 	��
� ���� ��
 �� �� �
 ���� 	����
	 
���	� � ����� �����	 ���
	 ��	 	� � ��
 
 ����� ���� ���
	�
����	 ���	
 �� 	������� 	� ���	
 �

 ��	� �	���� 	������ ��	

reflection map �	� ��� contraction principle ��
������	 ���	
	�	����	 �

M/M/1
��
 �� ���	� 
������


S

�� ��� ���

Se = {r : r(0) = x0, r(t) ≥ M for some 0 ≤ t ≤ T }�9 .5= �
�� 	����	 ���� 	� ��
 �
� 	�� �� ���
 ��� � ���� ��� ��	��� ���� M

����	 
� ���� ��� ������
	 
���� ��	
�nT

�� �
 � ����
nM

�� ����
 ��� ����
�� ��� �
x(t)

���	
	� ����
	

�λ1 = λ, λ2 = µ �� e1 = 1, e2 = −1
�� ��� ��	� �� ���
 	���� ���	
 ��	

M/M/1
��
 �� �����	 ���	
	

4.8 �����

.8��# �0 �+ ��,� �-� �� � 0, # �, ��0�!, C��,�,  � ��+

"�� &�� � "����& '��� �"���&� �&�&�� �

,-�!$� ,$ � �3��� � � C+� .x :$ * ����� *-�# * �$4�, ��0!, C��,�,  �$3� 8��# �0 C��,�  �$3� �-�# 
.� �$ �� �! � � �� �#�

	�������	 
 ����� ��
 ���
� ���
	
r∗
����
	 ���

x �� ���
 ���� `(x, y) = `(y)
��

5.1 )*+,
min{I(r) : r(0) = a, r(T ) = b}�;.5 �

������� ��	

r �+� �+ 8� -� 8������ �#� 3$ �- /� ��� ��-�� ` :� 8���+ �2# .[0, T ] �3 � �� 0�-�� ���0�, # 1� U ,�,� "�-./�

∫ T

0

`(r′(t)) dt = T E [`(r′(U))] ≥ T ` [E(r′(U))] = T `

(

1

T

∫ T

0

r′(t) dt

)

= T `

(

r(T ) − r(0)

T

)

= T `

(

b − a

T

)

.

�;.6 �

* ���� * ���� 3��,�  � ��$ , �$�, C �, /����0�!, C��,�$ ��+ � * ���$ *����� *-�# * �$4�,� , ��$  � ��+
$�!� � #�# : ,�4#� �� � ��3$  ��0� C �4 8�# $4�, ��4-�0 �� C 3, �# # �4�� ��+ /C+� >� �- . � � ��$ #�,

.` ,�4� -�0, �� C 3
��4�-�0 /* ��# �# *�-��� �� , ��� ����-$ C# .,$ �� $4� ��4� -�0 8+# #�, �-�� ����,  �$3 $4�, ��4�-�0

., �42����0�#, ��3$ �3 ,���  $�, .� ��� ��-�� ,-�# $4�,

5B



����� ������ �	 


*� �� 0 *3 /8��# �0 �+ ��,� �-� �� � 0, #�, ��0�!, C��,�,
e1 = 1, e2 = −1, λ1 = λ, λ2 = µ�;.7 �

"C��,�, �� 1,���04 1, � ��,-�,, �# ���� �$�- � �� �0���
d

dt
x∞(t) = λ − µ, x∞(0) = x∞(0) + (λ − µ) · t�;.9 �

.� !# ����� � λ > µ
*# �$ ��! # �, ,�4�-�0, 3�0�� .� � #-�� ,�4�-�0� ��-+�� *�+��,�, � ��  � ��+

� �0�$ $�!� 8�- , 2 C��,�  �$3

`(x, y) = `(y) = y log

(

y +
√

y2 + 4λµ

2λ

)

+ λ + µ −
√

y2 + 4λµ�;.; �

:� 8���+
(λ − µ)2 + 4λµ = (λ + µ)2,�;.< �

.`(λ − µ) = 0 :� ���04+ � �-�$��
����

 ���� 	� ���
 �� �

a > (λ− µ)T
����

P {xn(T ) ≥ a | xn(0) = 0} 
 ���
�		 ��� ����	 � 
� ����
5.2 �,�/����� ����� �
 ��� ��1 �� 
���� 
 ���
�		 ����� ���
 ��� ���

inf{I(r) : r(0) = 0, r(T ) ≥ a}�;.= �
��	 ��� �
 	 ����
	

r(T )
�� ����� ��� �� ���� �� ������ ��� �� ��
	 	�
�
� ��� 
 ���	
	 	�
�
� �� ���


`
� �����


 ��	� 
���	 	����
 �����	 
���� ��� ���� ��

inf{T `(b/T ) : b ≥ a}.�;.@ �
�a/T �� ��
 �
 	��� 	������ ` �� ��	 a/T > λ − µ �� ����� � λ − µ �� ��	 	�� ��
 ���
 	 
���� �
�������� ��	

`
����

�� ��

	 �����	 �� ���� �� ��	
T
�
 ��

a �� ���	� ����	 ����
	� �
T `(a/T )

��	 � �
 ���
 	 ���

����
	 �� 
 ���
�		 
� ���� ���
� ����� ���� �
 ��� �
�� ��	 �µ > λ �� ���� �����	 �
 �	 
 ��� 5.3 �,�/�
����� �
 �� �� 	���� ��
� �
 �� 	���
 ����� ��� ��	��� �
 ��

a > 0
	
� ������

x(0) = 0 �� ���

 ���	
	� �����	 �
��� � ��� 
���
� �
 �� �� ��� ��
� ������ �
 ��� ��� �� �
 � � ��� 
����
 
���
�		����
��	 �
 ����� �
� ����� ��

����� ����
 �� 	� ��� � ��
	 	� ��� �� �
� �a 
� ����
 ��	 ��� ��
 � 
���

��� ��� ��� �� ���
 �� 	���	� ����	 ���	
	 ����� 
���	� ���� �� ���
 ����� ���
��� ����	� ����� ����� �����
���	� ��� ��	���

T �� ���
 ��
 ���
 	 �� ���	 � ����� ��� ���	 �
�� ���
 ���	 � 
 ���
�		 � ���� �� �
 ���

 ����
		���� 	����
 ����� 
 ��� � �� ��	 	���	 ��� �a �� ����� ���
�
 	� �� 

���	 	
 � ��� ��
	� � ���� �� ��� �� ���
 ��	
��� 	
�� � ���� �
 ��� � �
 ������� �� ��� �

inf{T `(a/T ) : T > 0}�;.A �
	���� 	��� ����� � ����	 
�

c = a/T �� �
�� �	���� 	����

inf

{

a
1

c
`(c) : c > 0

}

= inf
c>0

{

a

c

(

c log

(

c +
√

c2 + 4λµ

2λ

)

+ λ + µ −
√

c2 + 4λµ

)}

�;.5B �

= a inf
c>0

{(

log

(

c +
√

c2 + 4λµ

2λ

)

+
1

c

[

λ + µ −
√

c2 + 4λµ
]

)}

�;.55 �
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����� 	�����
c
���

a
���
	 ��� ��� �� 	 
� ����� � �
 ���
 	 
���
�

2λ

c +
√

c2 + 4λµ
· 1

2λ

(

1 +
1

2

[

√

c2 + 4λµ
]−1

· 2c

)

− 1

c2
(λ + µ −

√

c2 + 4λµ ) − 1

c

1

2

[

√

c2 + 4λµ
]−1

· 2c

�;.56�

=
1

c +
√

c2 + 4λµ
·
(

1 + [
√

c2 + 4λµ ]−1 · c
)

− 1

c2
(λ + µ −

√

c2 + 4λµ ) − [
√

c2 + 4λµ ]−1 = 0

�;.57 �

���� ���� �√
c2 + 4λµ = λ + µ

	� ��� ���� �c = µ − λ > 0
���
�	 
� ����� 
��

=
1

2µ

(

1 +
µ − λ

λ + µ

)

− 0 − 1

λ + µ
�;.59 �

=
1

2µ

2µ

λ + µ
− 1

λ + µ
= 0�;.5; �

��	 ���

	 ��
 ���
 	 ���	� �


( 5.11)

	����� 	��	 ���
 �����	 � ����	 �	� ����

inf

{

a
1

c
`(c) : c > 0

}

= a log
µ

λ
�;.5< �
	���	 ��� �� �����	 ����
� �
 ��� 	����	 ���	 
� �
 �� ���� �� �	� 	��
� � ��
 �����	 ����
	 �� 
 ������ ����
�� �
� ��� 
 ���	� ���� ��� �

	 ������ � ��	 � ����� ��	 ����� �
 �� �� ��� 	� ��� ���
 ����� ���

 �� ����	 ���	
	��
 �	 ��
 ��� ��
 � ����� ���

 � �
 ���
 	 �� ����



λ �� µ
���� ������ �� ���	

 �����	 	� ����
 ����� ������


�� ������ ���� ����	

"�% "���&�$�% �&�� & �&$%&� �&�!� �� �&� �

���$ .� ��� �$� �0# #�,  ��, C �#  �#+ ,�� �0�+ � �4�0�� #�# /��0!, C��,�, ��+ C��,� # �, M/M/1  ��
���$ � * �0�4 *-�# ,4�0�, �$4�� *� �-�# .*���,  �#�� ,,2 ,2  �#� /��#�4--�0��#, ����0, �� 8� +2,  � �!
reflection :, � 23$ C+ �3  $��,� 8� �- �-�2�� .>�� �-�# ���+, �0��, 8+� � ������ ,�,� #�  ��,� ,� � �,
 ��, *#�  � $ 8+ ��+ .��0!, C��,�� ,,2 C��,�, /�$ ��!  ��, ��3 �+�  � $ .� �� �0��� ��!�- *��# .map
�0��� �$��  �0# 8+� .��0�! C��,� *3 $ �� �+�� � # �, �2# $ �� �$ ��!� C�0,� *# /8� � �,� 3� � �2# /$�4�

� ��

d

dt
x∞(t) =

{

λ − µ x∞(t) > 0

0 x∞(t) = 0
�< .5 �

x∞(t) =

{

x∞(0) + (λ − µ) · t x∞(t) > 0

0 t ≥ x∞(0)/(µ − λ)
�< .6 �

= max{x∞(0) + (λ − µ) · t, 0}�< .7 �
�+ "��0!, C��,�� �- 2! �2# /0 :� *�3��� * -�#  �# *�� ���� >� �# � !# $ ��3� ,2+  ��� ��+ ��, �,� �#�- *#
C��,�,  �$3 $�� �!, � 0$ /8+� .��0!, C��,�� ,,2 # �, 8+�� 8� � �� #� # �, ��#+ * ������ � !# $� �3  ��, ��3
��$� /,�-� � �!# ,��� -� 3��� C��,�,�  � ��$  �$�, �����, �,� � � � $��,, #�,� ",�#�, �3 ,-�3 ��0�!,

.0 C �  �$3�
x(t) C��,�  �$3 ", ��,$  +2- .reflection map :$ ����,� �-��3 M/M/1  ��  �$3 LDP

8� �3 �$�� ��+
R[x](t) = x(t) − inf

0≤s≤t
x(s).�< .9 �
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�+ /$! � �� �#� �* �� 0��, �� �- *3 � � �0�4 , � ��4� -�0, $! �� ��0��+ >�4 # �, R �-��4� -�0,
|R[x](t) − R[y](t)| = |x(t) − y(t) − [ inf

0≤s≤t
x(s) − inf

0≤s≤t
y(s)]|�< .; �

≤ |x(t) − y(t)| + sup
0≤s≤t

|x(s) − y(s)| ≤ 2 sup
0≤t≤T

|x(t) − y(t)|�< .< �
sup

0≤t≤T
|R[x](t) − R[y](t)| ≤ 2 sup

0≤t≤T
|x(t) − y(t)|.�< .= �

>�4 �-�# R "> �4 , C��,�$ ����,� � �$��,� �!# �, �2 � contraction mapping theorem :$ ����,� �+ �- 8+�
:��0!, C��,�, �� ��� ���, $4�, ��4�-�0 �# `f :$ 8��- .��>�4 �-�#  �$�! ,2 $! �$� 8���+ D �3 �-��4�-�0+

.* ���, ,-���$ #� C# /� � �,�, ,-���$ � ,���� �2 ,�4�-�0�  +2-::
	� �� ��� 
������ ��

LDP �	 ����� 
� ����
 λ < µ
�
 ��� �����

M/M/1
��


6.1 )*+,

I(r)
.
=

{

∫ T

0 `(r(t), r′(t)) dt r absolutely continuous

∞ otherwise
�< .@ �

`(x, y)
.
=











`f (y) if x > 0 or y > 0

0 if x = 0 and y = 0

∞ if x < 0 or x = 0 and y < 0 .

�< .A �

contraction :, �0�� �0� />�4 ��0��,� 8���+� � C��,�, �3 R ��0��, ��30, ��� �3 �$� -  ��, �#� 8���+� ",!+ �,
��� �3 � ���� $4�, ��4�-�0 .LDP:, 8� �3 * ����� 8+# mapping theorem

I(r) = inf{If (u) : R[u] = r}�< .5B �
� �� ��� $4� ��4� -�0 *3 /� �� �� -#, , �4, �# ,� � �  �# /��0!, C��,�, �� $4�, ��4� -�0 # �, If  �#+
 �$3 �0 �� -�#, C 3, � �!$ .u 8� �0 8�# R[u] = r ,# ����� �2# �,��+ t  �$3 r(t) < 0

*# �+ $� * �� - �3+ .`f

�2# r′(t) > 0
8�0���!� �# r(t) > 0

8+ � R[u] = r
*����� *# />� �-$ .�2 , -�+� 8�� 8+# � �� ���, $4�, ��4�-�0

$4�, �2# r(t) = 0
*# � �� �0�� �0� />� �-$ .t ,2+ $�$� ,-��� �-�# * �� �0-�#, 8+� r′(t) = u′(t)

*� ! +,$
 ��,  � ��+ u(t) = 0

*# .0 #�, ��� ���, $4�, ��4�-�0 C 3 8+�� : *�  #�,� # �,  ��,  �$3  � ��$  �$�,
,��3 C��,�, *# : ��� � -�# �3 �! �,� ,��+� #� �2 ,30�� *��# .r′(t) = u′(t)  ��#+ �2# /#���,� ��!��� /� � 
r  �$3 /C+ *# .#���,� ��!�� C# ��  ��, 8,$ 8�2, � ���� -� *�3�,�  �0# 8+� .0 :� , ���  #� � #� #�, �2#/* ��$ ��!

inf{If (u) : R[u] = r} = inf{
∫ T

0

`f(u′(t))1{r(t)>0} dt : R[u] = r}�< .55 �

= inf{
∫ T

0

`f(r′(t))1{r(t)>0} dt : R[u] = r}�< .56�

= inf{
∫ T

0

`(r(t), r′(t)) dt}�< .57 �

.� �0 �� -�# #�, $4�, ��4� -�0 *#�,$� 0 #�, � � $��,, *������ *�+ 3 *��$��, r  �$3  ��#+ �
., �4#� � � ��3$ 8� �0� 3-�,� ��+ :C � � �4��� � �� �� ,# -� /� ���3� � ��#�� *� ���, *�$ �� �!�  �$3- ,2 $��$*���� � 0

8�2$ x ,��� -$ ��!�� C��,�, � �$3 / � ��$  �$�, �����, �,� � /$4�, ��4�-�0 C 3 �,� "# �, ,�#�,* ���-��� #�$�, �����, �# 8+ � C 3, �# # �4�� �-��3 /� �����, � ����, �0�� �#2 *� �- *# �T
8� 2$ y ,��� -$
",#$, ,�3$$

inf{I(r) : r(0 = x, r(T ) = y}.�< .59 �
.x > 0, y > 0 !�-- � ���# ���� � � �-3�� 3-�,� ��+

57



����� �
I(r̂) ≤ I(r)

���� 
����
 ����
	
r̂
����
 ���� ��� �r(0) = x, r(T ) = y

� ���
	 �	��� ����

r
�	�

6.2 ���)����
r
�
 ���

r(tp) > 0
����

r(t1) = r(t2) = 0 �� �� t1 < tp < t2
���
 � ��
 ��� �� ��
 ��	 ��� ��� ��� �� r̂(t) = 0

���
 ����� ���� ��	 ��� ��� 	���
 ����


r̂

� ����� �� ��� �� �	��� �� ����	� 	
 �� �t2 = sup{t < T : r(t) = 0} �� t1 = inf{t > 0 : r(t) = 0} �
�� ��-./���� �	� ����� ���� 0 �� 	��� � [t1, t2]

����� ���� � ��
 r �� 	��� 
 ��	�

I(r) =

∫ T

0

`(r(t), r′(t)) dt�< .5; �

=

∫ t1

0

`(r(t), r′(t)) dt +

∫ t2

t1

`(r(t), r′(t)) dt +

∫ T

t2

`(r(t), r′(t)) dt�< .5< �

≥
∫ t1

0

`(r(t), r′(t)) dt +

∫ T

t2

`(r(t), r′(t)) dt�< .5= �

=

∫ T

0

`(r̂(t), r̂′(t)) dt�< .5@ �

��� ��� r′
�� � �� ���

r
����

(t1, tp]
����� ���� ��� � ��� ���

r(tp) > 0
�� �a = b = 0

���� ���� 	��� �
`(a, b) ≥ 0

��
�( 6.17)��( 6.16) �� �

 ������ �� ����� `(r, r′) > 0

�� ����

�� ���� ���
0 �� x �
 ��� �� ���� 	� ���
 ����
	 ����
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C 3 �+ $� *�� - .* �3�� ,� ��� 8$ ����� �#  � � �� "* ������0�# � ��,� *���3��, * ������ �-� � � ",-���,*�-��# , *�3��, �-�  �!� 8+� : ��0�� ���� T  �$3 T :$ ���� �-�# * �3��, �� ��� 8$ �����,  �$3 � �� -�#,
C� # 8� 2  �$3 .�����0�# �-�# ,2 � ���� 2# � : *�3� �34�#, 3��, 8�� T  �$3 .y :$ � ���� �� ���,  �!� � 0 # �,
� �-� �0 �-� *-� � � �$3 T �� *��-�$ * �!� 8+�� .T ���3 *3 ���  � �, ��,  �!� 8+� /��� ��0�# ,2 ����� � 

.�,��+ ,�42����0�#$ C� + �-�# � ��# ���� � # �, � ��3, $�� �! /, �� �+$ .* ������0�#
# �, �����0�#, �����, *� 4� *�-�2  �$3 .8�,�+ #�, T �� ,�4�-�0+ ��� ��0�#, �����,� � � $��,, � ��, -�,
x > y

*# � � *# 0 ,�,� * ���-��, .������ #� 8$ ��+ #�,� � * �� �-��� �3 /T �� ,�4�-�0+ �� �� � ��3, � / � � ��
��� �3 ,�3��� ,� ��! #�, C# /� �-�� �-�� ,��3 ,��!�� 8+�  !#� .λ− µ 3�0��$ �� � 8� �- � �$3 8� 2 � � 2# 8+�

.* �3�� ,� ��� *3 �����, �� � ��3,
.* �� ���� �$�� ,�#�+ $ �� !�-�  �0# y = 0 :� � 0$� y :� x :�  �$3� C��,�� !�� 8�2 ,�+ ",�#�, �#
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 �+�� C���, {Sn = x1 + . . .+xn} �, � .* ������  �$3 ,� ��0 ,#4�� �$��  �0# �4�+ ,# -�  �+ �� C���,�  �2!-
�+ * �3��� �-# � �0�#, 34���,  �$3 � �#4��,� .{xn} ����0 ���� � � 1�$ * �� 0, *3 C��,�  � ��+

P {Sn ≥ na} ≈ e−n`(a)�= .5 �
.$4�, � �4� -�0 # �, `  �#+ a > E x1  8$3

�P {Sj ≥ ja for all j ≤ n} ≈ e−n`(a)
7.1 )*+,

 ���- .r1 + . . . + rn ≥ na
*������, *� 0�� {ri} ��, � " 23 �-3�� ��2- "�-./�

i∗
.
= arg inf{r1 + . . . + ri − ia : 1 ≤ i ≤ n}.�= .6 �

�2# .kn = k mod n
8�� -�

r(i∗+1)n
+ . . . + r(i∗+j)n

≥ ja�= .7 �
8�� - .�* � $�4�, *�+ 3, �#  ��4 ,!+ �,� � .1 ≤ j ≤ n �+�

Si∗

j
.
= x(i∗+1)n

+ . . . + x(i∗+j)n
�= .9 �
*# .1 ≤ j ≤ n �+� Si∗

j ≥ ja :� C+ �# �# i∗
*��� Sn ≥ na :� 3 �#�, �3� �$�-� , ��, �3 ,��, �# ��30-

C+
P {Sj ≥ ja for all j ≤ n}�= .; �

≤P {Sn ≥ na}�= .< �
= P

{

Si∗

j ≥ ja for all j ≤ n
}

�= .= �

=

n
∑

k=1

P

{

Si∗

j ≥ ja for all j ≤ n and i∗ = k
}

�= .@ �

=

n
∑

k=1

P
{

Sk
j ≥ ja for all j ≤ n

}�= .A �

=n P {Sj ≥ ja for all j ≤ n} .�= .5B �

�&"�% "�& �&'�� �

calculus of ���4#� � 8�$�! �# �- ��� -��� , ,� �#�, �,�42����0�#, ���3$ �# ��� ��-# , �4$  ��0� �4�+
# �4�� 8� �- #� ��+ C �$ / � ��+ .� ��$ �� �! � �#4�� �3� C# �!� �0� ,� �#� /,+ � # ,� ���, ,� � �� variations
1,� ��0, ,�3$, 1 .� �����0�#, , �$, � ��� ���$�� # �, ,$ ,���$� � �+ ��$ ���+ � ��4#� � 8�$�! .� �0� 8� �0

� �� -�#, �# * ���-��� #�$,� #�, * �!�$ the simplest problem

∫ T

0

`(r(t), r′(t)) dt�@.5 �

�3 #�, ,�42��-��,  �#+ /��-�4# � �� � �-�+�, *3 #� �� �#� � * �-��� �-� �� #�,��+ ,�4� -�0 # �, `  �#+
"# �, ���$��, ,-��# , ,�#�, .* �-�� - a, b :� r(0) = a, r(T ) = b ��� ����, r �� ��4�-�0, � *������, �+

5;



�, �2 �-�� -�!$� .8�3� ���� � �0�4 $ * � �2� *,� *�� ����$ �� �3 � � 0�,�  +�- ��! .r *� � ��, * �� ����, *,�/��!,$ * �0�4 �1 �� $��,$ � *, � �� �$�, �+ �-�� *�����,  �$3 �+ � �# ,� *���+ � �-# 8+� ,��$� #� ,�� �
.� �0�4 $ *� �2� ! +,$ #� C#

����� x �, � .�����0�# r � !�-- .,#$, ,� ��$ � ������0�#� � �0�� �#-� !�0�  �0# /�$�� �# �� -�# 80 �#$
(r + δx)(0) = r(0) + δx(0) = a �+ ,0�, �#-� �# *���� r + δx � ����, δ �+� �2# .x(0) = x(T ) = 0

*����,
����� ,�4�-�0  ���- .T  �$3 ,� �� , �4$8

F (δ) =

∫ T

0

`(r(t) + δx(t), r′(t) + δx′(t)) dt�@.6 �

/� ���� ,�4� -�0 �2� 8���+ .r + δx ,��� -$ �-�� �-��4� -�0, C 3 #�, F ,�4� -�0, .* �3�$� *, x :� r :� $� * ��
$�!- ��0#�,� ,+� 4 *� ,� 2�-� � , /δ = 0 :$ * �� �-��� ,3��� #�,� 8���+ �

0 =
d

dδ

∫ T

0

`(r(t) + δx(t), r′(t) + δx′(t)) dt

∣

∣

∣

∣

∣

δ=0

�@.7 �

=

∫ T

0

[

x(t)
d

dr
`(r(t), r′(t)) + x′(t)

d

dr′
`(r(t), r′(t) dt

]

�@.9 �

=

∫ T

0

x(t)

[

d

dr
`(r(t), r′(t)) − d

dt

d

dr′
`(r(t), r′(t) dt

]

�@.; �

�! +, # �, ,2 �# -�� 8���+ .x(0) = x(T ) = 0 :� ,�$ �3$ � * ���!$ ,�4 �� -�#$ �-����, 8� !#, 8�����$  �#+
Euler necessary condition  ���# �# -� �# ��$�� � /�0#�,� $��! �- �� -�#,� C+� ��� - x �+�

d

dr
`(r(t), r′(t)) − d

dt

d

dr′
`(r(t), r′(t) = 0.�@.< �

# �, �2# /��!� 8� �0 �2 ,# ����� *#� 8$��+ .r �����0�#, �����,  �$3 �,� ��� � � ��#�4- 0�� ,# ���� �, �2
.�����0�#, �����, ! +,$

�&�&�( �( "� �
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